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BCTYII

CamocrtiifHa poOoTa CTYAEHTIB € OCHOBHHM 3aCO00M OBOJIOJIIHHS HABYAJILHUM Mate-
pianiom y yac, BUTbHHI Bij 000B’I3KOBUX HAaBYAIILHUX 3aBJIaHb, a TAKOK HEOOX1THOK YMO-
BOIO TATOTOBKH BUCOKOKBali(ikoBaHKX (haxiBuiB. MeTa caMoCTiifHOT poOOTH HoJIsATae B
(bopMyBaHHI yMiHHS [UIAaHYBaTH, CHCTEMATH3YBaTH, PETyJIIOBATH i KOHTPOJIIOBATH CBOIO
NisUIBHICTH 0€3 MOHITOPUHTY BHKJIaJaya.

MeTtonuuHi BKa3iBKU TPU3HAYCHI JJISI CAMOKOHTPOJIIO CAMOCTIHHOT pOOOTH CTY/ICH-
TiB 1 Kypcy dakynbTery iHO3eMHHX MOB creriansHocTi 035 «Dinomoris» creriamizarii
035.041 «I'epmaHChKi MOBH Ta JliTepaTypH (TIepeKIia] BKIFOYHO )», TIepIla — aHTTiHChKa OCBIT-
HBOI IIpOrpaMu «AHTITIHCHKA Ta Jpyra iHO3eMHa MOBH Ta JITepaTypH (TIepeKia BKIII0Y-
HO)» 3 HaBYaJbHOT quciurntiay «Ilepiia ino3eMHa MOBay (aHITiChKa) st actiekTy «I pa-
MaTHKa» Ta BIAMOBIa€ 3aTBEPHKEHIH HABYABHINM Iporpami i3 BKa3aHOT JUCHUILUTIHY.

3a CBOEI CTPYKTYPOIO BUAAHHS MOLICHE HA YOTUPH PO3/ILIH, SIKi BiIMOBIIAIOTH Te-
MaTUYHKUM MOJYJISIM 1 MICTATh TECTOBI 3aBIaHHs 3 HACTYIHUX TeM: «Absolute Pronounsy,
«Indefinite Pronounsy, «Traditional Use of Articlesy», «Irregular Verb Forms», «Construc-
tions used to / get used to / be used to», «Structures would / like / would like», «Difference
between have and have got», «Adverbials of Time», «Quantifiers», «Linking Words»,
«Verbs of Reportingy, «Passive with get», «Construction have smth done», «Passive with
by-phrases», «Ergatives».

V KiHIll METOAMYHMX BKa3iBOK JOJAOTHLCS BIAIOBI/I 10 TECTIB Ta HABEAEHO CIHUCOK
JDKEpeI TSl CAMOCTIHOTO OIPAIFOBAHHSL.



Mopyas 1
Absolute Pronouns. Indefinite Pronouns.
Traditional Use of Articles

Marepinu, 3anpornoHOBaHi JUIsi CaMOCTIHHOTO ONPAIIOBAHHS Y IMEPIIOMY MOJYJI,
OXOIUTIOIOTh HACTYIHI TeMu: abcoitoTHa (hopMa npHcBiiiHnX 3aiimeHnukis (Absolute Pro-
nouns), Heo3HaueHi 3aiimenHukH (Indefinite Pronouns) Ta TpanumiliHe BUKOPUCTAHHS ap-
tukiis (Traditional Use of Articles).

Jlns IepeBipKy BMiHB Ta HaBHYOK 3 aclekTy «'pamarikay y JaHOMY MOMYJI BHKO-
PHUCTOBYIOTBCS Pi3HI pOpMHU 3aBIaHb 3aKPUTOTO THITY:

— 3aBJIaHHA Ha 3alIOBHEHHS [IPOITYCKiB,;

— 3aBJaHHS HA BCTAHOBJICHHS BiAMOBIIHOCTI.

KosxeH 3 0J10KiB 3aB/IaHb MOYUHAETHCS 3 IHCTPYKIIii, Y SKil MOSICHEHO, 110 came He-
00ximHO pobuTtH. TemaTHKa TeCTiB, PO3MILICHUX IICJIs IHCTPYKIIi, ITOBHICTIO BiIOBiIa€e
TEeMaTHIll MOAYJIS.

Sk BUKOHYBATH 3aBJaHHS HA 3alI0BHEHHS IPOIYCKIB

e [lepen BUKOHAHHSAM TECTY 3BEpHITh yBary Ha (HOPMYITIOBAHHS 3aBJaHHS 10 HBOTO.

o 11106 3p0o3yMiTH pedeHHs], yBa)KHO MPOYUTATE HOTO, iIrHOPYIOUN MpomycK(-u).

¢ IIpounraiiTe BapiaHTH, SKUMHU IIPOMOHYETHCSA JOMOBHUTH PEUCHHS 3aMiCTh HpO-
MYCKiB, HAMArar4Yrich 3p0O3yMITH iX.

e BuOupatouu npaBwIbHY BiJNOBiAb, aHATI3yHTe rpaMaTudHi GopMu, 110 Nepeay-
I0Th TPOITYCKY 200 pO3TalllOBaHi BiJjpa3y 3a HUM.

¢ He 3a0yBaiiTe, 0 BHOpaHUil BapiaHT IIOBUHEH BiIIOBIJaTH TpaMaTHIHIH CTPYK-
Typi HaBeIEHOTO PEYCHH.

Sk BUKOHYBATH 3aBJaHHS HA BCTAHOBJIEHHA BiAMOBiTHOCTI
J10 KOKHOTO 3aBJaHHS HA BCTAHOBJICHHS BiAMOBIIHOCTI MoAaHo iH(OpMaIlito, mo-
3HaueHy mmdpamu (IiBopyd) i Oyksamu (mpaBopyd). 11106 mpaBMIBHO BHKOHATH 3aB-
JIaHHS, HeO0OX1/THO BCTAHOBUTH BiJIIOBIHICTE iH(opMarii, mo3HaueHoi mudpamu Ta Oyk-
BaMH (YTBOPUTH JIOTi4Hi MTapH).
3aBaaHHS BBOKAETHCSI BUKOHAHUM, SIKIIO CTYIEHT MPAaBUIILHO BCTAHOBUB BiAIMOBI/-
HOCTI ycix psaakis (uudpu Bix 1 1o 4) i kononok (6yksu Big A no D).



Temu Ay1s1 caMOCTii{HOT0 ONPALIOBAHHSA:

1. Absolute Pronouns (also known as absolute possessives) — mine, yours, his, hers,
its, ours, and theirs.

2. Indefinite Pronouns — any, anybody, anyone, either, neither, nobody, no, someone,
some, every, all, both, each, several, enough, many, and much.

3. Traditional Use of Articles:

> articles with school, prison etc.;

> articles in phrases of time (years, seasons, months, special times of the year, days
of the week, parts of the day and night, meals, phrases with last and next);

» names of people;

» place names and the;

» ten pounds an hour etc.



Tect nis1 caMokoHTpoJIIO 1

Fill in the gaps with the correct answer

1. I’'m going to a wedding on Saturday. is getting married.
A A friend of mine

B A friend of me

C A friend of my

2. We went on holiday with some
A friends of us

B friends of ours

C friends of our’s

3. Mike had an argument with
A aneighbour of he

B a neighbour of him

C a neighbour of his

4. It was a good to go to the cinema.
A idea of yours

B idea of your

C your idea

5. Gerald is from Devon.
A a cousin of she

B a cousin of hers

C a her cousin

6. I don’t have a calculator. Can I borrow ?
A yours

B of you

C yours one

7. Our dog is well mannered, but barks all time.
A their

B theirs’

C theirs




8. is a jacket with front line buttons.
A My
B Mine

C Mine’s

9. My pen is red and pen is black.
A your

B yours

C your’s

10. We had to walk home because there were taxis. We had
to walk home because there weren’t taxis.

Ano...any

B none ... -

C none of ... any

11. We took a few pictures, but of them were very good.
A any

B none

C one

12. We had to walk home because there was bus.
A any

B none of the

Cno

13. is perfect, are they?
A Anybody

B Everybody

C Nobody

14. No-one did what | asked to do.
A them

B him

C her

D all variants are possible




15. We all told the boss that we wanted to have salaries paid in ad-
vance but he just ignored

Aours ... it

B their ... our

Cour...us

16. Although in the room seemed to follow said by the
speaker, he never intended to simplify his language.

A noone .... anything

B nobody .... nothing

C anyone .... nothing

17. Did they plant aster flowers in your garden?
A some

B any

Cno

18. Did you hear interesting at the meeting?
A anything

B everything

C something

19. The children went to school early this morning.
A —

B the

Ca

20. They are going to build church on the edge of the village.
A —

B the

Ca

21. He’s spent a lot of time in prison.
A—

B the

Ca

22. She saton bed while she changed her socks.
A —

B the

Ca



23. They reached camp at sunset.
A —

B the

Ca

24.1 couldn’t call you during day, I’'m sorry.

A,
B the
Ca

25. If your schedule is flexible, the best day for Thanksgiving travel is

Monday before the holiday.
A —
B the
Ca

26. If winter comes, can
A —

B the

Ca

27. 1t was Christmas I’ll never forget.
A—

B the

Ca

28. 1 can’t see in dark.
A—

B the

Ca

spring be far behind?

29. Jack and Sarah enjoyed delicious lunch at Mario’s.

A —
B the
Ca

30. breakfast is at eight o’clock.
A

B The

CA

10



31. was served at half past seven.
A A meal

B The meal

C Meal

32. Prince of Wales’s main role as Heir to the Throne is to support
Her Majesty The Queen.

A—

B The

CA

33. I spoke to Mr. Brown and Miss Green.
A —

B The

CA

34, Millers are a nice couple.
A —

B The

CA

35. She has Rembrandt in her private collection.
A —

B The

CA

36. Amsterdam is Venice of the North.
A — ... the

B-..—

C The ... The

37. Isle of Man is a self-governing British Crown dependency in the
Irish Sea between Great Britain and Ireland.

A —

B The

CA

11



38. The Linbury Studio Theatre is a flexible, secondary performance space, con-
structed below ground level within Royal Opera House.

A —

B the

Ca

39. Bahamas is comprised of 700 islands and over 2 000 rocks and
cays, sprinkled over 100 000 square miles of ocean.

A —

B The

CA

40. Southeast Asiais a collection of related but dissimilar states
squeezed between Indian Ocean and Pacific Ocean.

A — ... the ... the

B The ... the ... the

C The ... — ... the

41. Hannibal’s crossing of Alps in 218 BC was one of
the major events of the Second Punic War.

B The ... the
C—...the

42. We love to go fishing out of Lake Kissimmee State Park.

43. By 1930, Odeon was a household name and the cinemas known for
their maritime-inspired Art Deco architecture.

A —

B The

CA

44. Miss Marple takes a two-week vacation in London, at Bertram’s
Hotel, where she stayed in her youth.

A —

B the

Ca

12



45. No commercial buildings could be built further west along Great
West Road.

A —

B the

Ca

46. Carpets are sold by square metre.
A —

B the

Ca

47. Potatoes are twenty pence pound.
A for

B by

Ca

48. Find the synonym for the sentence ‘I said nothing .
A | said anything

B I didn’t say anything

C I didn’t say nothing

49. Match the types of pronouns with the appropriate examples.

1) Possessive absolute pronoun A my

2) Reflexive pronoun B me

3) Possessive proper pronoun C myself

4) Personal pronoun D mine

50. Match the questions with the appropriate answers.

1) What did you do? A Nowhere

2) Who were you talking to? B None

3) How much sugar do you want? C Nothing

4) Where are you going? D Nobody / No-one

13



Monyas 2
Irregular Verb Forms. Constructions used to / get used to / be used to.
Structures would / like / would like

Marepisii, 3anporOHOBaHi [Jisi CaMOCTIMHOIO ONpAlOBaHHS Yy JAPYroMy MO.IYJI,
OXOILTIOIOTh HACTYIIHI TeMu: HenpaewibHi giecinosa (Irregular Verb Forms), korcrpykuii
used to / get used to / be used to ta crpykrypu would / like / would like.

Jl1s nepeBipky BMiHb Ta HABUYOK 3 acliekTy «[paMarika» y JaHOMY MOJYJI BHUKO-
PHCTOBYIOThCSI 3aBJIaHHSI 3aKPUTOTO THILY, 8 CaMe 3aBJIaHHs 3 BHOOPOM OtHi€T TpaBHIIbHOT
BiAmoBizi.

3aBiaHHs 3 BUOOPOM OJIHIET NPABUIIBHOI BIAMOBIAI MICTATH Pi3HI OJOKH, KOXKEH 3
SIKAX TOYMHAETHCS 3 IHCTPYKIIIT, y SIKiH MOSCHEHO, 0 caMe HeoOXiqHo podutH. Temartrka
TECTIB, PO3MIIICHUX MICJIS IHCTPYKIil, HOBHICTIO BiIIIOBIIa€ TEMATHIII MOTYJIS.

SIk BUKOHYBATH 3aBaHHs 3 BUOOPOM O/IHi€l NpaBMJILHOI BianmoBiai
o [lepen BUKOHAHHAM TECTy 0OOB’SI3KOBO 3BEpHITH yBary Ha (hOpMYIIOBaHHS 3aB-
JaHHS 0 HBOTO.
o 11006 3po3ymiTu muTaHHs a00 TBEPIKECHHS, YBaXXHO IIPOYUTANTE HOTO.
e [IpouuraiiTe BapiaHTH, HAMararouuch 3pO3yMiTH iX.

Temu 1151 caMOCTii{HOT0 OIPALIOBAHHA:
1. Irregular Verb Forms (Infinitive, Simple Past, Past Participle).
2. Constructions used to / get used to / be used to.
3. Structures would / like / would like.

14



TecT 1JIsi CAMOKOHTPOJIIO 2

Choose the correct answer for the question

1. In which form is the verb ‘lain’ written?
A Infinitive

B Simple Past

C Past Participle

2. In which form is the verb ‘swung’ written?
A Infinitive

B Simple Past

C Gerund

3. In which form is the verb ‘sought” written?
A Infinitive

B Simple Past

C Past Participle

D both Simple Past and Past Participle

4. What are the Past Simple and Past Participle forms of the verb ‘to string *?
A strung, strung

B stang, strong

C strang, strung

5. What are the Past Simple and Past Participle forms of the verb ‘to weave *?
A wave, waven

B wove, woven

C weave, weave

6. What are the Past Simple and Past Participle forms of the verb ‘to tread ?
A trod, trodden

B treaded, treaded

C trot, trrotten

7. How many forms (infinitive, past simple, past participle) does the verb ‘burst’
have?

A One

B Two

C Three

15



8. How many forms (infinitive, past simple, past participle) does the verb ‘mean’
have?

A One

B Two

C Three

9. What do we use to describe past states which have changed?
A would

B used to

C to be used to

Choose the appropriate explanation for the sentence

10. I like to cook.

Al am in the situation that already existed

B I do it and I enjoy it

C I think it is a good thing to do, but I don’t necessarily enjoy it

11. While we were at university, we would often go to the capital to take part in po-
litical demonstrations.

A The same action repeated several times in the past

B A past action that happened frequently but no longer happens

C A state existing for some time in the past

D A description of a past situation which is different now

12. 1 like cooking.

A | am in the situation that already existed

B I doitand I enjoy it

C I think it is a good thing to do, but I don’t necessarily enjoy it

13. I'd like to have watched the football but I had to go out.
A | will watch the football tonight

B | wanted to watch the football, but I didn’t

C I want to watch the football, but I can’t

16



Choose the correct meaning of the sentence

14. 1 am used to living alone.

A1 lived alone in the past, and I didn’t find it strange or difficult because I’d been
living alone for some time

B I lived alone in the past, but I no longer live alone

C I live alone, and I don’t find it strange or difficult because I’ve been living alone
for some time

15. I am used to driving on the left because I've lived in Britain a long time.
A | do it every day

B it isn’t strange or new for me

C did it regularly in the past but no longer do it

16. Choose the appropriate sentence to transmit the meaning o like in general’:
A1 don’t mind playing tennis

B | like to play tennis

C I"d like to play tennis

17. Choose the correct translation of the sentence ‘Jopoza pisko nosepuyna
enpaeo’.

A The road bent sharply to the right

B The road bented sharply to the right

C The road bend sharply to the right

18. Choose the correct statement.

A We often continue with would after a past narrative has started with used to
B We use would to describe past states which have changed

C We use would to show that someone has accustomed to something

Choose the correct sentence

19.
A Paul is used to living alone
B Paul is used to live alone

20.
A Lisa had to get used to drive on the left
B Lisa had to get used to driving on the left

17



21.

A They lived in Vinnytsia for six years

B They used to live in Vinnytsia for six years
C They used to living in Vinnytsia for six years

22.

A Will you prefer to have dinner now or later?

B Would you prefer having dinner now or later?
C Would you prefer to have dinner now or later?

23.

A The robbers fled before police arrived
B The robbers flee before police arrived
C The robbers fleed before police arrived

Choose the incorrect sentence

24.

A The capital of Ukraine used to be Kharkiv but now it’s Kyiv
B The capital of Ukraine would be Kharkiv but now it’s Kyiv
C Kharkiv was the capital of Ukraine

25.

A A Would you like to come to dinner on Friday?
B Do you like our Fridays’ dinners?

C Would you mind to close the door, please?

Fill in the gaps with the correct answer

26. | the spoon when | sat on it.
A band

B bond

C bended

D bent

27. The bank had him the money only after carefully checking
his affairs.

A leanded

B lent

18



C lended
D Borrowed

28. They many different flowers last year, and just look at them
now!

A sown

B sowed

C sewed

D sewn

29. The sun from a clear blue sky.
A shone

B shon

C shined

30. The man’s wound far too much. We had to call an ambu-
lance.

A bleeded

B bled

C blad

D blud

31. She always the table very fast.
A lay
B lied
C lain
D laid

32. We our way through the traffic.
A wave

B wove

C weaven

D weaved

33. We live in a small village, but now we live in London.
A use to

B used to

C got used to

19



34. a lot of sweets when you were a child?
A Did you use to eat

B Got you used to eat

C Did you got used to eat

35. Nicola doesn’t travel much now. She a lot, but she prefers

to stay at home these days.

A used to travel

B is used to travelling
C travelled

D did travel

36. 1 a lot, but now I do.
A don’t used to read
B am not use to read
C didn’t use to read

37.1 bought some new shoes. They felt a bit strange at first because |
them.

A wasn’t used to

B didn’t use to

C didn’t get used to wear

38. Helen has a new job. She has to get up much earlier now than before — at 6.30.

She finds this difficult because she so early.

She

A isn’t used to get up

B wasn’t used to get up

C isn’t used to getting up
D wasn’t used to getting up

39. Katherine’s husband is often away from home. She doesn’t mind this.

A is used to him being away
B is used to him to be away
C used to him being away

40. The ancient Greeks rely on power of slaves, rather than ma-

chines.

A had
B did

20



C would
D useto

41. 1t strange to be able to communicate over long distances.
A would seem

B used to seem

C seemed

42. When we had a serious argument, Simon and | talk to each
other for weeks.

A didn’t use to

B used to

C wouldn’t

43. Kids to their parents this way, what has happened to those
days?

A didn’t use to talk

B would talk

C got used to talk

44.1 playing basketball in my spare time.
A like

B would like

C will like

45, tea? If so, you should really try Earl Grey.
A Do you like

B Would you like

C Would you mind

46. Can you order for Ellie? She the Margarita pizza, please.
A ’d like

B likes

C ’s like

47. She into laughter over a hilarious video.
A burst

B bursted

C bursed
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48. Fog over the forest.
A creeped

B crept

C creept

49. | came home and saw that someone had
A dig

B digged

C dug

50. He had bad chest pains, so he
A sought

B seeked

C seek
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Moayab 3
Difference between have and have got. Adverbials of Time.
Quantifiers. Linking Words

Marepinu, 3anpoIOHOBaHI JUII CaMOCTIHHOTO OIPALIOBAaHHS Y TPETHOMY MOIYJI,
OXOIUTIOIOTh HACTYIHI TeMH: pi3HHIA MK have Ta have got, mpucnmiBHUKE dYacy
(Adverbials of Time), kBanTudikaropu (Quantifiers) ta cmosa-38’s3ku (Linking Words).

Jlnst mepeBipku BMiHb Ta HABUYOK 3 acnekTy «['pamatuka» y TaHOMY MOAYJI BHKO-
PHUCTOBYIOTBCS Pi3HI (HOPMHU 3aBAaHb 3aKPUTOTO TUITY:

— 3aBJIaHHA 3 BHOOPOM OJIHI€T PaBIIIHLHOT BiIMOBI I,

— 3aBJJaHHA 3 BUOOPOM JICKUJIbKOX TIPAaBUIIBHUX BiJINIOBIJIEH;

— 3aBJIaHHS Ha BCTAHOBJICHHS BiJIIOBIIHOCTI.

KoxxeH 3 0110KiB 3aBIaHb MOYMHAETHCA 3 IHCTPYKIIiI, y SAKiif MOSCHEHO, IO caMe He-
00ximHO pobuTtH. TemaTHka TeCTiB, pO3MILIEHHX MICI IHCTPYKIIl, TOBHICTIO BiIITOBITa€e
TEMAaTHIl MOAYJIS.

SIk BUKOHYBATH 3aBaHHS 3 BUOOPOM O/IHi€l NpaBMJILHOI Bianosiai
o [lepen BUKOHAHHSM TECTy 00OB’S3KOBO 3BEpHITH yBary Ha ()OPMYJIIOBAHHS 3aB-
JIaHHS 10 HBOTO.
o 11106 3po3yMiTH MUTaHHS 200 TBEPXKESHHS, YBaKHO MIPOUYUTAITE HOTO.
e [IpounTaiiTe BapiaHTH, HAMAralO4uch 3pO3yMITH iX.

Sk BUKOHYBATH 3aBIaHHSA 3 BHOOPOM JIeKiIbKOX MPaBIILHUX BigmoBineii

e Ilepen BUKOHAHHAM TeCcTy 0OOB’SI3KOBO 3BEPHITH yBary Ha ()OpPMYJIIOBaHHS 3aB-
JIQaHHS 10 HBOTO.

o 11106 3po3yMmiTH MUTaHHS 200 TBEPKECHHS, YBaYKHO MPOUYUTAINTE HOTO.

o [IpouwnTaiiTe BapiaHTH, HAMArarOUMCh 3pO3yMITH iX.

e Bukiourte yci ManoiiMOBIpHI BapiaHTH Ta 30CEpPENIbTE yBary Ha THX, IO 3JIal0ThCSI
O1ITBIII JIOTIYHUMHY.

e OO0epiTh TpH MPaBUIIbHI BiIOBIII.

SIKk BUKOHYBATH 3aBJaHHSI HA BCTAHOBJIEHHSI BilNOBiAHOCTI
J10 KO’)KHOTO 3aBIaHHs Ha BCTAHOBJICHHS BiMOBIIHOCTI MOAAaHO iH(pOpMAILlito, TO3HA-
yeHy nugpamu (J1iBopyd) i OykBamu (mpaBopyd). 11[o6 mpaBuIbHO BUKOHATH 3aBIaHHS,
HEOoOXIZTHO BCTAHOBUTH BIiJMOBIIHICTE iH(OpMaii, mo3HayeHoi nudppamMu Ta OyKBaMU
(YTBOpHUTH JIOTI4HI TTApH).
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3aBIaHHS BBXXAETHCS BUKOHAHUM, SIKIO CTYJCHT NPABHIBHO BCTAHOBHB BiIIOBIJI-
HocTi ycix psakiB (undpu Bix 1 10 4) i konoHok (6ykBu Big A 10 D).

Temu 1151 caMOCTii{HOTO ONIPALIOBAHHSA:
1. Difference between have and have got.
2. Adverbials of time — still, yet, already, any more, any longer, no longer.
3. Quantifiers — much, many, little, few, a lot, plenty.
4. Linking words — be, appear, seem, become, come, get, go, grow, turn (into).
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TecT 1JIsi CAMOKOHTPOJIIO 3

Choose the correct answer for the question

1. Which sentence shows a stronger feeling of surprise or impatience?
A | sent him an invitation last week. He hasn’t replied yet.
B I sent him an invitation weeks ago and he still hasn’t replied.

2. When we talk about possession, relationships and similar meanings we use:
A have

B used to + infinitive

C have got

D either have or have got

E gerund

F participle

3. Which sentence is more formal?
A One day | could stand it no longer
B I couldn’t stand it any longer

4. Who is most keen to move house?

A ‘I can think of few reasons to move house.’

B ‘I can think of a few reasons to move house.’

C ‘I can think of quite a few reasons to move house.’

5. Who is least keen to move house?

A ‘I can think of few reasons to move house.’

B ‘I can think of a few reasons to move house.’

C ‘I can think of quite a few reasons to move house.’

6. In which of these sentences is little used correctly?
A They had little hope

B Their hope was little

C It’s little difficult

D It’s a little difficult

E It was painted by a little-known artist

F We have a little-liked boss at the moment

7. Which linking verb do we use to describe a process of change?
A to appear
B to seem
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C to become
D to smell

8. Which linking verb do we use to talk about colours changing?
A to appear

B to seem

Ctoturn

D to get

9. Any more and any longer go:
A in the middle of a sentence

B at the end of a sentence

C at the beginning of the sentence

10. Already is used to say that:

A asituation has changed

B something happened sooner than expected

C the speaker is expecting something to happen

D a situation or action is continuing. It hasn’t changed or stopped

11. still is used to say that:

A asituation has changed

B something happened sooner than expected

C the speaker is expecting something to happen

D a situation or action is continuing. It hasn’t changed or stopped

12. Choose the correct linking verb in the sentence ‘Have you been to the dog
park?’

A have

B been

C park

D no linking verb

13. Choose the correct linking verb in the sentence ‘Will the dogs be at the park
tomorrow?’

A will

B be

C tomorrow

D no linking verb
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14. Choose the sentences with the linking verbs:

A It tastes salty to me. (to taste)

B He seems very nice. (to seem)

C In restaurants he always tastes his girlfriend’s food first. (to taste)
D I turn bright red when I’m embarrassed. (to turn)

E I’m thinking seriously of leaving my job. (to think)

15. Transform the following sentence into the past tense: They haven’t got any
problems.

A They hadn’t got any problems

B They didn’t have got any problems

C They did not have any problems

16. Choose the informal way to express possession:
A They have got a big house in the suburbs

B They have a big house in the suburbs

C They own a big house in the suburbs

Choose the incorrect sentence

17.

A We’re enjoying our holiday. We have a nice room in the hotel

B We’re enjoying our holiday. We’ve got a nice room in the hotel

C We’re enjoying our holiday. We’re having a nice room in the hotel

18.

A Lisa had long hair when she was a child

B Lisa had got long hair when she was a child

C Lisa used to have long hair when she was a child

19.

A Has she a telephone?

B I haven’t got any questions

C Has she got a car?

D I haven’t any brothers or sisters

20.

A Sometimes I’ve got a sandwich for my lunch

B Sometimes | have a sandwich for my lunch

C I’ve got some sandwiches. Would you like one?
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21.

A The traffic lights got green and | pulled away

B The children went completely crazy at the party
C He turned sixty last year

22.

A | eventually came to appreciate his work
B I eventually grew to appreciate his work

C | eventually became to appreciate his work

Choose the correct sentence

23.

A ‘Have we got any biscuits left?” — “Yes, we’ve. In the cupboard.’

B ‘Have we got any biscuits left?” — ‘Yes, we have. In the cupboard.’

C ‘Have we got any biscuits left?” — “Yes, we have got. In the cupboard.’
D ‘Have we got any biscuits left?” — “Yes, we’ve got. In the cupboard.’

24.

A 1 will have got time to do the work tomorrow

B They’ll have their marks tomorrow

C She’d got a racing bike when she was a teenager
D He asked me where | have my jacket from

25.

A T didn’t go in because she appeared to be asleep
B I didn’t go in because she appeared asleep

C I didn’t go in because she appeared to sleep

26.

A A linking verb is a verb that expresses a state of being

B A linking verb expresses an action that the subject is doing

C A linking verb is a verb that connects an object to the complement

Fill in the gaps with the correct answer

27. Mr Hammond, may I with you, please. It’s about my salary.
A have a word

B ‘ve got a word

C take a word

D make a word
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28. Excuse me, a pen | could borrow?

A have you got

B are you having

C do you have

D both A and C are correct
E both A and B are correct
F both B and C are correct

29. a new girlfriend?
A Do he have

B Has he got

C Does he has

D He has got

30. a nice time in Paris?
A Did they have

B Had they got

C Had they had

31. Do you want to go away or have you changed your mind?

A still

B already
C yet

D no longer

32. Have you met your new neighbours

A still

B already
C yet

D no longer

33. My mom doesn’t work at Boston hospital
last week.

A any more

B no more

C no longer

D any longer
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34. “Would you like tea?” ‘No thanks, I’ve had enough.’

A any more
B no more

C no longer
D any longer

35. Paul and Sally broke up last week. They’re

gether.
A any more
B no more
C no longer
D any longer

36. She has long hair! She had it cut last week.
A any more

B no more

C no longer

D any longer

going out to-

37. Is there milk in the fridge, or should I buy two more pints?

A any more
B no more

C no longer
D any longer

38. We can’t have chips again. We’ve had them three times this week.

A yet
B just
C already
D still

39. Monica says she’s this minute caught the train so she’ll be here in half

an hour.
A just
B already
C still
D yet
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40. Daphne hasn’t bought the tickets. | hope she does it soon.
A already

B still

C just

D yet

41. Jim sends his love. I've seen him in the high street.
A already

B just

C yet

D still

42. Have you seen the movie Avengers: Endgame ?
A just

B still

C yet

D already

43. Bob: Can | go online now, please?
Mag: Sorry. | haven’t finished using the computer.
A yet
B already
C still
D just

44, Has Rob foundanewjob  ?
A already

B still

C yet

D anymore

45. The average politician has real power.
A little

B a little

C few

D afew

46. people can speak a foreign language really fluently.
A little
B a little

31



C few
D a few

47. Would you like
A little

B a little

C few

D afew

48. Only
A little
B a little
C few
D afew

49. ¢

soup?

A Little
B A little
C Few

D A few

students in my class are studying two foreign languages.

knowledge is a dangerous thing.’ [saying]

50. Match the sentences with their meanings.

1) Can you yet see anything ? A The person isn’t working here now
2) Can you still see anything? B The person is working here now

3) She no longer works here C It was visible; but is it visible now?

4) She still works here

D Have you started to see something?
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Moayas 4
Verbs of Reporting. Passive with get. Construction have smth done.
Passive with by-phrases. Ergatives

Marepinu, 3anpONOHOBaHI IS CAMOCTIHHOTO OTPAIFOBAHHS Y YETBEPTOMY MOJIYJII,
OXOIUTIOIOTh HACTYITHI TEMH: JieciioBa JoHeceHHs iHdopmaii (Verbs of Reporting), na-
cuB 3 get, koncrpykitist have smth done, macus 3 by-phrases, eprarusu (Ergatives).

Jlnis mepeBipky BMiHb Ta HABUYOK 3 acmekTy «I pamMaTuka» y JaHOMY MOJYJi BUKO-
PHCTOBYIOTECS Pi3HI ()OPMU 3aBIaHB 3aKPHTOTO THILY:

— 3aBJIaHHA 3 BHOOPOM OJIHi€T PaBIITHLHOT BiIIIOBIII;

— 3aBJaHHS HA BCTAHOBJICHHS BiAMOBIIHOCTI.

KosxeH 3 0JI0KIB 3aB/IaHb IIOYUHAETHCS 3 THCTPYKIIT, y SKii MOSCHEHO, IO caMe He-
00ximHO poOuTH. TemMaThka TECTiB, pO3MIIIEHUX MIC)Is IHCTPYKIIil, OBHICTIO Bi/MOBIIa€e
TEMAaTHIl MOIYJIS.

Sk BUKOHYBATH 3aB1aHHSA 3 BUOOPOM O/IHi€l NpaBWILHOI Bianosiai
e Tlepen BUKOHAHHSAM TECTy 00OOB’SI3KOBO 3BEPHITH yBary Ha (hOpMyITIOBaHHS 3a-
BIaHHS O HBOTO.
e 11106 3po3ymiTu muTaHHS a00 TBEPKCHHS, YBaXHO IPOYHUTAiTe HOTro.
o [IpounTaiiTe BapiaHTH, HAMArarOunch 3pO3yMITH iX.

SIk BUKOHYBATH 3aBJaHHS HA BCTAHOBJIEHHS BiINMOBiTHOCTI
J1o KOKHOTO 3aBJaHHs Ha BCTAHOBJICHHS BiJNIOBIJHOCTI oJaHo iH(opMallito, Io3Ha-
yeHy nudpamu (J1iBopyd) i OykBamu (mipaBopy4). 11100 mpaBHiIbHO BHKOHATH 3aBIaHHS,
HEeoOXIZTHO BCTAaHOBUTH BIiIOBITHICTE iH(opMaii, mo3HaueHoi muppamMu Ta OyKBaMH
(yTBOpHTH JIOTiUHI HApH).
3aBJaHHs BBAKAETHCS BUKOHAHUM, SIKIIO CTYJICHT MPAaBUIILHO BCTAHOBUB BiIITOBII-
HocTi ycix psakiB (undpu Bix 1 1o 4) i konoHok (6yksu Big A mo D).

Temu 1J151 cAMOCTIIiHOT0 ONPALIOBAHHSA:

1. Verbs of Reporting — describe, show, reveal, study, demonstrate, note, point out,
indicate, report, observe, assume, examine, state, believe, mention, etc.

2. Passive with get.

3. Construction have smth done.

4. Passive with by-phrases.

5. Ergatives — begin, break, change, close, crack, drop, dry, end, finish, grow, im-
prove, increase, move, open, shake, start, stop, tear, turn, etc.
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TecT 1y1s1 CaMOKOHTPOJIIO 4
Choose:

1. ... the correct pattern of the sentence ‘It has been shown that the theory is correct.’
A It + passive verb + finite clause

B It + passive verb + to-infinitive

C Subject + passive verb + to-infinitive

2. ... the correct pattern of the sentence ‘My grandfather is known to like red wine.’
A It + passive verb + finite clause

B It + passive verb + to-infinitive

C Subject + passive verb + to-infinitive

3. ... the correct description of the reported event in the sentence ‘He is believed never
to have smiled at anyone.’

A The reported event happens before the reporting

B The reporting and the reported event happen simultaneously, i.e. in the same time
frame

4. ... the sentence with the focus on the result of the action

A I’ll have the house cleaned by the time you get home

B Sue had her fingers trapped in the bike chain for half an hour
C I haven’t heard the piece played before

5. ... the incorrect variant of the sentence ‘The manuscript is believed to be owned by
Mr Wilkins.’

A They believe the manuscript is owned by Mr Wilkins

B They believe Mr Wilkins owns the manuscript

C They believe Mr Wilkins currently is owning the manuscript

6. ... the correct statement:

A Ergatives are transitive verbs that are used without an object
B Ergatives are intransitive verbs that are used without an object
C Ergatives are transitive verbs that are used without a subject
D Ergatives are intransitive verbs that are used without a subject

7. ... the appropriate continuation of the rule ‘We use ‘get’ followed by an object +
past participle when...’

A itis clear that the person referred to in the subject of the sentence is not responsible
for or has no control over what happens
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B we say that the person referred to in the subject of the sentence does something
themselves, causes what happens, perhaps accidentally, or is to blame for it
C we want to focus on the result of the action rather than the action itself

8. ... the appropriate continuation of the rule ‘The by-phrase in passive is NOT used
to...
A give information about causes
B give information about the ‘method’ of doing something

C say that an action simply happens, without an agent

9. ... the incorrect sentence:

A The government increased inflation

B The government increased

C Inflation was increased (by the government)
D Inflation increased

10. ... the ergative verbs from the given text:

‘Water evaporates into the atmosphere from the land and the sea. Plants and animals
use and reuse water and release water vapor into the air. Once in the air, water vapor
circulates and cools and can condense to form clouds and precipitation, which fall back
to earth.”

A evaporates, circulates, cools, condense

B use, reuse, release, condense

C evaporates, circulates, cools, condense

Choose the sentence with the same meaning as:

11. ‘Humans accelerated tropical deforestation markedly during the 1980s.”
A Tropical deforestation markedly accelerated itself during the 1980s

B Tropical deforestation accelerated markedly during the 1980s

C Tropical deforestation accelerated by the 1980s markedly

12. ‘I've made an appointment at the hairdresser’s for next Monday.’
A I'm cutting my hair next Monday

B I’m having my hair cut next Monday

C I’ve had my hair cut next Monday

13. ‘Builders checked our roof after the storm.’

A We had our roof checked after the storm

B We have our roof checked after the storm

C We had been having our roof checked after the storm
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14. ‘I heard her called Toni.’
A She needed to call Tony

B She was called Toni

C Tony called her

15. ‘She is photogenic.’

A She photographs very well
B She takes good pictures

C She has a lot of photos

16. “Your composition reads well.’

A The composition can read good

B Your style is very good

C Your composition shows that there is room for improvement

17. ‘Black jeans are selling well.’

A Someone has a good shop assistant
B Many people are buying them

C Jeans are of good quality

18. ‘Her voice records well.”

A Her voice sounds good on tape

B She is a champion in sporting activities
C She sent someone a voice message

19. ‘Experts say that 8 hours sleep is the perfect amount.’

A 8 hours sleep is reported to be said the perfect amount

B 8 hours sleep is said to be the perfect amount

C 8 hours sleep is being the perfect amount was said by experts

20. ‘They expect that 2000 people will attend the festival.’
A 2000 people were expected to attend the festival

B 2000 people are being expected to attend the festival

C 2000 people are expected to attend the festival

Choose the correct answer for the question

21. Why is the source of the information hidden in passive structures?
A Because it is obvious

B Because the source is really important

C Because the information is reported in an informal style
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22. Which of these is not a reporting verb?
A Think

B Estimate

C Hope

D Report

E Translate

F Assume

23. ‘The girl was bitten by a snake’ is an example of:
A a by-phrase

B a with-phrase

C an ergative

D a verb of reporting

24. ‘The park closes at 6’ is an example of:
A a by-phrase

B a with-phrase

C an ergative

D passive

Fill in the gaps with the correct answer

25. It is that Mr Rohmer would be willing to pay up to a million
dollars for the business.

A understand

B understanding

C understood

26. believed to be the first time that a polar bear killed a zookeeper.
Altis

B Was

C We are

27. The company is said more than 100 million dollars only last month.
A to lose

B that it’s lost

C to have lost
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28. The convict to be dangerous.
A is known

B knows

C was knew

29. Dan is known very active.
A that he is

B to be

C being

30. She that the lucky draw winner was Maggie Leung.

A informed
B announced
C advised

31. He us not to drink the tap water.
A informed

B insisted

C warned

32. He taking the train as the traffic was terrible.
A invited

B claimed

C suggested

33. We should get before we can launch the new product.
A anew logo to design
B a new logo designed
C to design a new logo

34.1don’t have my watch. I'm at the shop.
A having to repair it

B having it repaired

C having it repair

D repairing

35. We while we were away on holiday.
A had burgled our flat

B had our flat to burgle

C got our flat burgled
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36. She told me that she’d had with a titanium prosthesis.
A her hip replace

B her hip replaced

C replaced her hip

37.1 at the pub last night.
A had stolen my jacket

B got my jacket to steal

C got my jacket stolen

D stole my jacket

38. She’s got an appointment her nails done.
A has

B have

C to have

39. Il have to have the boiler before the weather turns colder.
A repaired

B repair

C repairing

40. Before you go for a ride you must
A have fixed your bike

B have your bike fixed

C fixed your bike

41. When you order the tickets can you to my work address?
A sent them

B have them sent

C had them sent

42. If I had been able to afford it | would have the carpet replaced years ago.
A have

B had

C has

43. She needs to a molar tooth filled this afternoon.
A do

B let

C get

D make
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44. We last the carpets a year ago; they now look dirty again.
A got ... clean

B get ... cleaned

C have ... clean

D had ... cleaned

45. Tom all his shirts and trousers because he was going
abroad on business for a month.

A got ... ironed

B let ... iron

C had ... ironing

D made.... to iron

46. 1 don’t need to go to the hairdresser’s my hair because
I do it myself at home.

A having ... dying

B toget ... dyed

C having ... dye

D to get ... to dye

47. We are planning to have our flat this year.

A to paint

B painted

C paint

D painting

Match

48.

1) David opened the door A active, intransitive, ergative
2) The door was opened (by David) B passive, transitive
3) The door opened C active, transitive
49.

1) The sun is melting the chocolate A ergative

2) The chocolate is being melted by the sun B active

3) The chocolate is melting C passive

40



50.

1) Robin started the group project A The emphasis is entirely on the action

2) The group project was started by Robin B The emphasis is on the person respon-
sible for starting the group project

3)The group project started C The emphasis is on the group project
and on the fact that someone started it, ra-
ther than on the person who started it
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Bignosini
Moayas 1

Absolute Pronouns. Indefinite Pronouns. Traditional Use of Articles

Rooo~NoorwWNE

')C:)UJO:DUJ}OUJ:D

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

O>>PTP>O000T

21.
22.
23.
24.
25.
26.
27.
28.
29.
30.

>OWO>TT>TD>

3L
32.
33.
34.
35.
36.
37.
38.
39.
40.

Moayas 2

>WOWOWW>OW@>T®

41.
42.
43.
44,
45.
46.
47.
48.
49.
50.

WOWIPH>I>I>O

1)D2)C3)A4)B
1)C2)D3)B4)A

Irregular Verb Forms. Constructions used to / get used to / be used to.

HOoo~NoorwNE

gmw>>m>owo

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

WP>I>P>PWWOWWW®

21.
22.
23.
24,
25.
26.
217.
28.
29.
30.

WP>WWoOOwW>OP

O>0>»0>»>W00

Structures would / like / would like

3L
32.
33.
34.
35.
36.
37.
38.
39.
40.

Moayas 3

41.
42.
43.
44,
45,
46.
47.
48.
49.
50.

>O0WP>P>PP>P>Om

Difference between have and have got. Adverbials of Time.

BOoOoNoOR~WNE
TOOP>0P0OW
o
m

©
(o9)

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

>OWO>»OP>PWWO

w
o

Quantifiers. Linking Words

3L
32.
33.
34.
35.
36.
37.
38.
39.
40.

21.
22.
23.
24,
25.
26.
27.
28.
29.
30.

>WO>>>WWO >
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W>O>O00>00>

41.
42.
43.
44,
45.
46.
47.
48.
49.
50.

B
C
C
C
A
C
B
D
B

1)D2)C3)A4)B



Rooo~Nogs~MwNE

imow>o>>o>

Mopayas 4
Verbs of Reporting. Passive with get. Construction have smth done.
Passive with by-phrases. Ergatives

11.B 21. A 31.C 41.B
12.B 22.E 32.C 42.B
13.A 23.A 33.B 43.C
14.B 24.C 34.B 44.D
15. A 25.C 35.C 45. A
16.B 26. A 36.B 46.B
17.B 27.C 37.C 47.B
18. A 28.A 38.C 48.1)C2)B3)A
19.B 29.B 39.A 49.1)B2)C3)A
20.C 30.B 40.B 50.1)B2) C3) A
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